"} R
(vector-ref (vector-ref (vector (vector 42)) 0) 0)

(vector-ref
(vector-ref
(let ([vecinit7976
(let ([vecinit7972 42)] )@ E&—
(let ([collectret7974
(1f (< (+ (global-value free ptr) 16) &—
(global-value fromspace end))
(void)
(collect 16)
) 1)
(let ([alloc7971 (allocate 1 (Veqtor Integer))])
ﬁ (let ([initret7973 (vector-set! alloc7971 0 vecinit7972)]) &—
alloc7971)))) 1) 'T:===== -
(let ([collectret7978
(1f (< (+ (global-value free ptr) 16)
(global-value fromspace end))
(void)
(collect 16)
) 1)
(let ([alloc7975 (allocate 1 (Vector (Vector Integer)))])
(let ([initret7977 (vector-set! alloc7975 0 vecinit7976)])

alloc7975)))) w
0)

( colled™ inw
(eolled 16) > 16 bofls
[ Allswto it tYp)
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block35:
movqg free ptr(%rip), alloc9024
addg $16, free ptr(%rip)
movg alloc9024, S%rll
movg $131, 0(%rll)
movg alloc9024, S%rll
movg vecinit9025, 8 (%rll)
movg $0, initret9026
movg alloc9024, S%rll
movg 8 (%rll), tmp9034
movg tmp9034, %rll
movg 8 (%rll), Srax
jmp conclusion
block36:
movg $0, collectret9027
Jjmp block35
block38:
movqg free ptr(%rip), alloc9020
addg $16, free ptr(%rip)
movg alloc9020, %rll
movg $3, 0(%rll)
movg alloc9020, %rll
movg vecinit9021, 8(%rll)
movg $0, initret9022
movg alloc9020, vecinit9025
movqg free ptr(%rip), tmp9031
movg tmp9031, tmp9032
addg $16, tmp9032
movqg fromspace end(%rip), tmp9033
cmpg tmp9033, tmp9032
j1 block36
Jjmp block37
block37:
movg %$rl5, %$rdi
movg $16, %rsi
callg 'collect
jmp block35
block39:
movg $0, collectret9023
Jjmp block38

start:
movqg $42, vecinit9021
movqg free ptr(%rip), tmp9028
movg tmp9028, tmp9029
addg $16, tmp9029
movqg fromspace end(%rip), tmp9030
cmpg tmp9030, tmp9029
j1 block39
jmp block40
block40:
movqg %$rl5, Srdi
movg $16, %rsi
callg 'collect
Jjmp block38

W coven - ool
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